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1. What mass of Co can be produced when a current of 15 A is passed through a solution of agueous

Co* for 1.0 hour? SQZ%’ + e —> Cos
(] hr)(60)(60) = 3600 s

bg—‘ (35&’06}3\ gl'fﬁ{:}@ Cg sl e - ng}f nggg,C?35€0 :fm
S) : {’?é%%§£;2ﬁw§€*§f¥wyf Co L,wi\

i

2. For how many minutes must the electrolysis of a solution of CuSQ; be carried out with a current of
2.25 A, to deposit 1.00 g of Cu{s} at the cathode?
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3. When AgNOs is electrolyzed for 21 mins and 12 seconds, 2.175 g of Ag(s) is deposited on the
cathode. What is the amount of charge in Coulombs passing through the cell? What is the

magnitude of the currentin Amps? ~ Ag t + ¢ - — A@ ey
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4. What mass of I; can be produced when a current of 1G A is passed through a solution of aqueous Ki
i ?
for 3Q minutes? 2T - + 2e- > T,
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5. How long will it take to plate out 1.0 kg of Al from aqueous AP using a current of 100.0 A?
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